

$$\{x = n \wedge n > 0\} = P$$

```

y := 1;
while x > 0 do (
  y := y * x;
  x := x - 1
)

```

$\left. \begin{array}{l} \leftarrow c_1 \\ \leftarrow c_2 \end{array} \right\} c$

$$\{y = n!\} = Q$$

TINY EXTENSION
 TO THE ASSERTION
 LANGUAGE

$$c = c_1 ; c_2$$

$$\text{seq} \frac{\vdash \{P\} c_1 \{R\} \quad \vdash \{R\} c_2 \{Q\}}{\vdash \{P\} c \{Q\}}$$

$$\begin{aligned}
 I &= y = n \times (n-1) \times (n-2) \\
 &\quad \times \dots \times (x+1) \\
 &= (x! \cdot y = n!) \wedge x > 0
 \end{aligned}$$

$$C_1 = y := 1 \quad C_2 = \text{while} \dots$$

$$\text{ASSIGN} \frac{}{\{P\} C_1 \{I\}}$$

$$P = I[1/y] \\ = (x! \cdot x + 1 = n!) \wedge (x \geq 0)$$

$$P = x = n \wedge n > 0 \\ \Rightarrow (x! + 1 = n!) \wedge x \geq 0$$

$$I[1/y] \rightarrow$$

$$\text{CONSEQUENCE} \frac{}{\{P\} C_1 \{I\}}$$

IT REMAINS TO SHOW:

$$\{I\} C_2 \{Q\}$$

$$\{I\} \wedge b \quad \{Q\} \quad \{Q\} \wedge \{T\}$$

$$\text{SEQ} \frac{\{I\} C_{B1} \{K\} \quad \{K\} C_{B2} \{I\}}{\{I \wedge b\} C_2 \{I\}}$$

$$C_{B1} = y := y + x$$

$$C_{B2} = x := x - 1$$

$$R = ((x-1)! * y = n!) \wedge (x-1) \geq 0$$

$$R' = ((x-1)! * y + x = n!) \wedge (x-1) \geq 0$$

$$I \wedge x > 0 \\ \Rightarrow R'$$

$$\text{WHILE} \frac{I \wedge x > 0 \quad C_{B1}; C_{B2} \quad \{I\}}{I \quad C_2 \quad \{I \wedge x \leq 0\}}$$

$$I \wedge x \leq 0 \Rightarrow y = n!$$

$$\text{CONSEQUENCE} \frac{\{P\} \quad C \quad \{Q\}}$$

